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Page 214, equation (4.333)

Writing (4.209) in space gradients gives:

n−1∑
β=1

n∑
γ=1

ωβγgradργ = −gradPn + ρngrad gn − ρn
∂f̂n
∂T

gradT (1)

and similarly for (4.208):

n∑
γ=1

ωβγgradργ = −gradPβ + ρβgrad gβ − ρβ
∂f̂β
∂T

gradT. (2)

Henceforth, equilibrium is supposed and its symbol o omitted.
Insertion of (4.320), (4.327) and (4.317) into (1) gives (remember that

gradρ ≡ h and gradT ≡ g):

n−1∑
β=1

kβ = −ρn(bn + in)− kn + ρngrad gn

and with respect to (4.328):

ρn(bn + in) = ρngrad gn. (3)

Similar substitution into (2) results in

kβ = ρβ(bβ + iβ) + kβ − ρβgrad gβ, β = 1, ..., n− 1

and
grad gβ = (bβ + iβ), β = 1, ..., n− 1. (4)

Equations (3) and (4) together (and not omitting the symbol o) form (4.333).
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